
PassTest

Q&A
Bessere Qualität , bessere Dienstleistungen!

http://www.passtest.de/


The safer , easier way to help you pass any IT exams. 

1 / 2 

 

 

 

Exam    :   SK0-003 

 
 

 

Title     :     

 

 

 

 

 

 

Version  :   DEMO 

 

 

 

 

 

 

 

 

 

 

 
 

CompTIA Server+ 

Certification Exam 



The safer , easier way to help you pass any IT exams. 

2 / 2 

1.A technician would like to ensure that when users connect to a web server in a server farm, they 

connect to the server with the lowest CPU utilization. 

Which of the following technologies would accomplish this? 

A. Load balancing 

B. High availability 

C. Virtual machine 

D. Reverse proxy 

Answer: A 

 

2.Changing the boot order of devices can be configured from which of the following? 

A. DIP switches 

B. BIOS 

C. Chipset 

D. Control Panel 

Answer: B 

 

3.Which of the following is an advantage of using non-ECC memory over ECC memory? 

A. ECC is faster than non-ECC 

B. Non-ECC is faster than ECC 

C. Non-ECC is more expensive than ECC 

D. Non-ECC checks for memory errors 

Answer: B 

 

4.Before installing a new device, a technician checks to make sure the device is on the HCL. 

Which of the following is the advantage of having an HCL device? 

A. It is supported by other vendors 

B. Increases performance 

C. Decreases cost 

D. Meets vendor standards 

Answer: D 

 

5.When building a computer with a 32 bit processor, which of the following is the MAXIMUM amount of 

memory supported? 

A. 1GB 

B. 2GB 

C. 4GB 

D. 8GB 

Answer: C 


